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! 100kN/mi%#8%%| 100 000 ~ 1.46 122.16 |3m%Ei#BZ 5 -~ — - —| 100kN/m%#E%% | 1.00 |10.72 ~ 16.07 122.16 |3mEBZ 3 -~ — — —
ThLst 100 | 146 ~ 924 100.00 | Z1ld4t | 000 ~ 9.24 | 2.28 11.51 zhLs 1.00 | 5,00 ~ 10.72 100.00 | #hllst | 5.00 ~ 16.07 | 2.28 11.51
) 100kN/mZ#8x%| 100 000 ~ 1.13 117.07 |3mZE#BZ % -~ - - —| 100kN/ %8 %% | 1.00 |10.54 ~ 14.10 117.07 |3mZE#BZ 5 -~ = - -
zh st 1.00] 1.13 ~ 8.92 100.00 | Zh L4t | 0.00 ~ 892 | 2.17 10.95 znLs 1.00 | 500 ~ 10.54 100.00 | Z=nList | 5.00 ~ 1410 | 2.17 10.95
3 100kN/m#z#%2%| 1.00| 000 ~ 0.08 101.20 |3mZE#BZ % -~ — - — | 100kN/m##x 5| 1.00 [11.92 ~ 1216 101.20 |3mZE#EZ5 — ~ - - —
zhusn 1.00| 008 ~ 787 100.00 | ZhbList | 000 ~ 7.87 | 2.47 12.47 Zzhus 1.00 | 500 ~ 11.92 100.00 | #hlist | 5.00 ~ 12,16 | 2.47 12.47
A 100kN/MZH#BZ. % — -~ — —|3mEHEZS -~ — — —[ 100kN/MZE#BZ % - -~ - —|[3mZiBZ D -~ — — —
zhLst 1.00| 0.00 ~ 6.28 7897 | #nkist | 000 ~ 6.28 | 1.89 9.56 ThLs 1.00 | 500 ~ 7.67 7897 | #n st | 5.00 ~ 7.67 | 1.89 9.56
5 100kN/mM%#B 2 % — -~ — —[3mZiBZ S -~ — — —| 100kN/mi%#BZ. 5 - -~ — —[3mZEiBZ D -~ - — -
ThLst 1.00| 0.00 ~ 6.60 83.30 | =14t | 000 ~ 6.60 | 2.59 13.11 zhst 1.00 | 500 ~ 10.08 83.30 | #nLlA4t | 5.00 ~ 10.08 | 2.59 13.11
6 100kN/MZH#EZ. % — - ~ — —|3mZ#EZ 5 -~ — - — | 100kN/mM%# %% - - ~ - —|3mZEi#BZ 3 -~ - — —
Zzhsn 1.00] 000 ~ 7.05 89.55 | #hbList | 000 ~ 7.05]| 1.97 9.98 zhs 1.00| 500 ~ 9.78 89.55 | #hLlst | 500 ~ 9.78 | 1.97 9.98
. 100kN/MZH#BZ. % — -~ — —|3mEHEZ S -~ — — —[ 100kN/MZE#BZ % — -~ - —|[3mZEiBZ D -~ — — —
ThLst 1.00| 000 ~ 3.90 49.00 | #hkist | 000 ~ 390 2.10 10.62 zhList 1.00 | 5,00 ~ 5.00 4900 | #hklst | 500 ~ 500 | 2.10 10.62
100kN/mM%#B 2 % ~ 3mEBAS ~ 100kN/mM%#E% % ~ 3ImEHEZD ~
ThLst ~ FNLS ~ TnLst ~ Zh st ~
100kN/mMZ#BZ % ~ 3mEHEZ S ~ 100kN/m#%#Z % ~ 3m%EZ S ~
zhs ~ zhs ~ zhs ~ zhst ~
100kN/MZH#EZ % ~ 3mEHBRS ~ 100kN/mMZ#8 2% ~ ImEHEZD ~
Ths ~ zhus ~ zhus ~ zh st ~
100kN/M%Z#BZ % ~ 3mEBAS ~ 100kN/mM%#E% % ~ 3mEHEZD ~
FhLLSH ~ TnLst ~ TnLst ~ Zh st ~
100kN/MZH#BZ. % ~ 3ImEBRS ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zzhs ~ zhus ~ zns ~ ZzhLs ~
100kN/m%#B % % ~ ImEBAS ~ 100kN/mM##BZ % ~ ImEHEZD ~
Ths ~ zhus ~ Zznsn ~ Zzhsn ~
100kN/mMZH#B 2 % ~ 3mEBAS ~ 100kN/m#Z#E % % ~ 3mEHEZD ~
Zzhsn ~ Zzhs ~ Zzhs ~ ZhList ~
100kN/MZ#BZ. % ~ 3ImEHBRS ~ 100kN/mZ#8 2% ~ ImEBZD ~
Zhs ~ Zzhus ~ Zzhus ~ zhLs ~




